PISCO

http://WwWw.pisco.com

Concentrated Branching Joint for Assembly

Main Block Series

® Assembling Manifold Blocks for Concentrated Branching

® Same Flow Rate with Steel Piping. Half Size Body.

® Combination with 14 Types of Different Size Blocks



I = Fitting Series

. Main Block

Bl Model Designation (Example) NI

Ha)[14]es] ]

Main Block l

v

£

®
[©) Resin color
T
ype ® Air port size
Joint connecting thread size
@ Type
@ Inlet port
Code Type Code Type Code Type Code Type
BA Bush A LB Elbow KR |Bulkhead Reducer| ST Socket
BC Bush C
@ Outlet port
Code Type Code Type Code Type
HQ |Push-in Banjo| HB |DoublePush-inBanjo | HT Taper Banjo
@ Extension port for outlet ® Plug
Code Type Code Type Code Type
HS |Straight Banjo PG Plug CP Cap
@ Different thread size and adaptor
Code Type Code Type
BB Bush B BN | Male Screw Adaptor
@ Joint connecting thread size
Code 08 12 14 18
Size (mm) M8 X 1 M12 X1 M14 X1 M18 X 1
® Air port size
@ Fitting type
Code 04 06 08 10 12 16
Size (mm) o4 a6 28 210 212 216
@ Thread type
Thread size Metric thread (mm) Taper pipe thread
Code M5 M6 01 02 03 04
Size (mm) M5 X 0.8 M6 X 1 R1/8 R1/4 R3/8 R1/2
@ Joint connecting thread size type
Code 08 12 14 18
Size (mm) M8 X 1 M12 X1 M14 X1 M18 X 1
@ Resin color
Code No code w
Color Standard (Black) Light-gray




PISCO

http://WwWw.pisco.com

Bl Model Designation of Coupling Module (Example) NN
@ Coupling module of outlet port

]

Coupling module ®
Body color
(@ Body color
Code No code w
Color Standard (Black) Light-gray

% Joint connecting thread size of coupling module is M18x1 only
% Use Light Coupling 20 series for the coupling module plug. See page 342.

B Specifications I

Fluid medium Air

Max. operating pressure 145psi (1.0MPa)

Max. vacuum -29.5in. Hg (-100kPa)
Operating temp. range 32~ 140°F (0 ~ 60°C) (no freezing)

B Construction (MHQ) I

Tube

Guide ring (Nickel-plated brass)

Lock-claws (Stainless steel)

Tube end

Metallic Body (Nickel-plated brass) Elastic sleeve (NBR)

Female thread



I"1=1 Fitting Series

. Main Block
A Detailed Safety Instructions NN

rBefore using PISCO products, be sure to read “Safety Instructions” and “Safety Instructionw
lManuaI" on page 23 to 27 and “Common Safety Instructions for Fittings” on page 33 to 35.J

1. When many blocks are connected or bending load is applied on them, use Bracket.

Connected equipment side or main block can be damaged without Bracket.

Caution
1. Use the main block spanners when assembling or disassembling. It may cause a

difficulty to assemble or deformation of Main Block without using these spanners.
2. Refer to the following tightening torque for assembly.

Connecting thread size |Recommended tightening torque
M8 X1 3.0~5.0N'm
M12X1 5.0~ 10.0N'm
M14X1 10.0~20.0N-m
M18X1 10.0~20.0N-m




B Standard Size List IS
Inlet port

PISCO

http://WwWw.pisco.com

Connecting Thread size Connecting Thread size
Type Page iveaissl R1/8 | Ri/4 | R3B | Ri/2 Type Page iveaisie Re1/8 | Rel/d | Ro3/8 | Reil2
=13 Bush A P318M8 X1 @ Socket P319MEX1 @
Mi2x1 @ ° [ J M12X 1 ()
M14 X1 ° ° [ J M14 X 1 °
M18 X 1 [ ) [ ] M18 X 1 [ ]
Elbow Pas I"\AA$2>><<11 : ° Type Page Comnecting Thread size
Mi4 X 1 ° ° ° hread siz2 M5 < 0.8 M6 X 1| R1/8 | R1/4
M8 X 1 ° ° [=# Bush C P319MEX1 @
M12 X1 ()
Connectin Tube O.D. (mm M14.X 1 [
ES Page s 4 6 8 : 1)0 12 M18 X 1 )
[VIZ45] Bulkhead Reducer | P319M8 X 1| @ [ ]
M12X 1 [ J [ J [ ]
M14X 1 [ J [ ] [ ]
M18 x 1 [ )

Outlet port

Connecting Tube O.D. (mm) Connecting Thread size
ES Page ivesisee 4 | 6 | 8 | 10 | 12 | 16 Type Pa9e rexdsze M5 x 0.6M6 X 1| Re1/8 | Ro1/4 | Re3/8
[VI=[®] Push-in Banjo| P320M8 X 1| @ | @ Taper Banjo|P321(M8 X 1| @ () (]
Mi2 X1 e o M12X 1 [ ) o
M14X 1 [ J [ J [ J M14 X1 [ J [ J
M18 X 1 [ ) M18x 1 [ ) ()
(Connectin Tube O.D. (mm! Connecting .
Type Page g s:zg 10 (mm) 12 Type Page g swlzg HplEEt Pl ‘
[IVI=T=] Double Push-in Banjo| P.320(M14 X 1 [ ] [EIT#I Module Socket | P.321M18 X 1 Light Coupling 20 series
M18 X 1 [ ]
Extension port fo . Pug ]
(Connecting Connecting thread size Connecting thread size
Type Pa9€ eassiel M8 X 1 |M12 X 1]M14 X 1 M18 X 1 Type Page \igx 1 [ M12x 1 | M14X1 | M18X 1
[VIZE] Straight Banjo| P322M12X 1| @ o IMPGIXIH P32 @ [ ) [ ) [ )
M14X 1 [ [ [MCPIET P32 @ ] ] ]
M18 X 1 [ ] [ ]

Different thread size and adaptor

Connecting Connecting thread size Connecting Thread size
Type PaG ivsts WBX 1 | MiBX T | Mi&Xi Type PaGE s B X 1 M2 1 N4 X 1]M18 X 1
Bush B P323M12X 1 (] [VI=IN Male Screw Adaptor | P323M8 X 1| @
M14X 1 ° M12X 1 [}
M18 X 1 [ ) M14X 1 °
M18 X 1 [ ]




I'F Fitting Series

. Main Block

Bl How to assemble

Bracket

I Bulkhead Reducer

| pta
| i

Outlet port
(Capable of assembling many as required)

Taper Banjo

Male screw on
inlet port side

\|=]e} Bush C

Female screw on both

connecting threads Plug
Male Screw Adaptor Cap Bracket
- ¢
} Different thread size }
amn Plug
Bush B -

1 =i

Light Coupling
20 series

Main blocks can be connected, as long as each metric thread size is the same.

- Outlet port (4 types)

- Inlet port (5 types)

- Plug (2 types)
- Different thread size

- Female screw on both connecting threads -

- Fixing Bracket--------

--------------------------------- Push-in Banjo (MHQ), Double Push-in Banjo (MHB),
Taper Banjo (MHT), Module Socket (QMC).
(Capable of assembling as many as required)
--------------------------------- Bush A (MBA), Elbow (MLB), Bush C (MBC), Socket (MST),
Bulkhead Reducer (MKR)

~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~ Plug (MPG), Cap (MCP)

................................. Bush B (MBB)
Male Screw Adaptor(MBN)
Bracket (MZB)




PISCO.

http://WwWw.pisco.com

H Piping example I
W Fitting joint on inlet port side
% Use bulkhead reducer (MKR)
% Bracket (MZB) is required
Compressor % Plug (MPG) is required
(In order to fix Plug and bracket, M6x1 screw with effective length 7mm is necessary)
i i S

l Female screw on inlet port side !‘!!:1';
% Use elbow (MLB) or Bush A (MBA) i | % Use Bush C (MBC)
% Plug (MPG) is required i<l % Cap (MCP) is required

i mce] | |

Bl Assembly example I

Outlet port
Taper Banjo type Push-in Banjo type Double Push-in Banjo type

2dA] 1ysie1s v ysng

. m
_
18
=+ 5
ie)

o4
=3

©

hen using Bulkhead Reducer on inlet port side and fix it, make sure to use Bracket (MZB).

adA1 JaonpaJ pesyy|ng

=




I’i'_i Fitting Series

. Main Block
Bl How to insert and disconnect N

1. How to insert and disconnect tubes

@ Tube insertion
Insert a tube into Push-In Fitting up to the tube end. Lock-claws bite the tube
and fix it automatically, then the elastic sleeve seals around the tube.
Refer to “2. Instructions for Tube Insertion” under “Common Safety Instructions
for Fittings” .

® Tube disconnection
The tube is disconnected by pushing release-ring to release Lock-claws.
Make sure to stop air supply before the tube disconnection.

2. How to tighten thread

@ Tightening thread
Use a spanner to tighten a hexagonal-column.
Refer to “Table 2: Recommended tightening torque / Sealock color / Gasket
materials” under “4. Instructions for Installing a fitting” in “Common Safety
Instructions for Fittings”.

3. How to couple and uncouple coupling module

@ Coupling
To couple, push the plug into the socket. No need to push down plug sleeve.
Refer to “Detailed Safety Instructions” of Light Coupling.

®. Uncoupling
To uncouple, push down the rel sleeve to rel Lock ball.
Refer to “Detailed Safety Instructions” of Light Coupling.

Release sleeve|

OF 2




M Inlet port

GIIEE’ Bush A

ROHS compliant

PISCO

http://WWW.pisco.com

Unit : mm

file name

TFMB-001

Model code

MBAO0801 R1/8 | M8 X1 8 8 20 16 12 245 "
MBA1201 R1/8 8 20 16 24.7 18
MBA1202 R1/4  M12 X1 " 8.5 23 17 17 123 20
MBA1203 R3/8 12 24 17.7 ’ 27
MBA1402 R1/4 " 8.5 23 17 19 o 23
MBA1403 R3/8 |M14 X1 12 N 24 17.7 ’ 25
MBA1404 R1/2 13 25 16.8 22 56.1 46
MBA1803 R3/8 12 18.7 22 29

X s b

MBA1804 R1/2 M18 1 18} 8o * 16.8 24 %61 45

. "L"is a reference value for height dimension after tightening thread.

1’ Elbow

RoHS compliant

CE

Unit : mm

TFMB-002

Model code

MLBO0801 R1/8 | M8 X1 8 7 28 16 24 17 21.4 42

MLB1201 R1/8 8 29 15 25 245 48
X d

MLB1202 R1/4 M12>1 " 85 32 16 26 19 40 50

MLB1402 R1/4 " 37 19 31 42.7 80

MLB1403 R3/8 |M14 X1 12 85 38 19.7 31.7 22 16 82

MLB1404 R1/2 13 39 18.8 30.8 93

MLB1803 R3/8 12 44 23.7 37.7 141
X 2

MLB1804 R1/2 M18 > 1 13 o 45 22.8 36.8 7 4 157

. "L1" and "L2" are reference values for height dimensions after tightening thread.




I""E Fitting Series

. Main Block

G[EEE]’ Bulkhead Reducer

RoHS compliant

Unit © mm

Model code
MKR0804[]| 4 M12x1 26 134 | 149 14 14 5.6 19
X X 4
MKR0806[ 1| 6 Mg X 1 M14x1 85 28.1 8 14.9 17 17 17 115 29
MKR1206[] 6 M14x1 28.1 12 109 17 4 17 17 132 | 28
MKR1208[] 8 |Mf2X1|Mi6x1| 85 | 289 10 134 | 182 19 19 | 274 | 34
MKR1210[]| 10 M20 X1 323 16.4 | 20.7 5 22 24 | 348 | 60 |TFMB-003
MKR1408[]| 8 M16X1 28.9 12 1.4 | 182 4 19 19 | 27.7 | 33
MKR1410[ ]| 10 M1#4X1/M20x1| 85 | 323 10 16.4 | 20.7 5 o4 24 | 417 64
MKR1412[]| 12 M22 X1 34.9 12 17.4 | 233 6 27 | B4.7 78
MKR1812[]| 12 M18X1 M2x1| 85 | 349 12 17.4 | 233 6 27 27 | 66.7 83
% . [Jin Model code / Replaced with “W" for Light-gray color.
(=53 Socket ..
il
T
/ e+ -5
( | o
A\ T
R Al | nol=
C . L Unit © mm
Model code |  Rc M Al A2 B H L
(9) file name
MST0801 Rc1/8 M8 X 1 8 9 20 12 12
MST1202 Rc1/4 M12 X 1 " 9 24 17 29
MST1403 Rc3/8 M14 X 1 12 10 27 22 57 TFMB-004
MST1804 Rc1/2 M18 X 1 15 10 28 27 84
@3 Bush C
E)
~
Unit : mm
Model code Rc M A1 A2 B H G : 2l
(9) file name
MBC08M5 M5 X 0.8 M8 X 1 7 5 " 10 3.8
MBC12M6 M6 X 1 M12 X 1 7.5 6 1.5 14 9.6
MBC1401 Rc1/8 M14 X 1 8 8 12 17 12 TFMB-009
MBC1802 Rc1/4 M18 X 1 8 11 13 19 17




M Outlet port I

PISCO.

http://www.pisco.com

“ Push-in Banjo E
MHG) j . i
— . |
ROHS compliant g ET T I Q
o T =4 —
MpeE= caiis a
i s
=
2-M oP2 O-ring
Unit © mm
Model code :
fll name
MHQO0804[]| 4 10 149 | 22.2 47 | 16
X . R 25. 2 .2 .
MHQO0806[]| 6 MBx1) 85 1 75 578 19 12.5 164 17 | 242 14 7 17
MHQ1206[]| 6 125 17 | 26.8 8.7 | 23
X 7 7. 27.2 71202 19. 17
MHQ1208[]| 8 2 ° 8 0 145 96 18.1 1282 " 25
MHQ1408[]| 8 102 145 18.1 1 30.2 16.7 | 39 |TFMB-005
MHQ1410(]| 10 |M#4x1| 8 85 | 31.2 1232 18 | 244|202 325 22 | 195 | 42
MHQ1412[]| 12 1.7 21 234 | 35.2 21.1 | 45
MHQ1812[]| 12 wigxi 8 85 | 362 | 11.7|272| 21 30 234 382 24 404 61
MHQ1816[]| 16 8 | 4111146 331 25 28 | 236|366 | 27 | 504 7
% . [Jin Model code / Replaced with “W" for Light-gray color.
GW:E]’ Double Push-in Banjo
ROHS compliant
e
W’ ;
m_l
9
2
Unit . mm
Model code
MHB1410[J] | 10 |Mi4X1]31.2 102 | 23.2 | 176 | 23 |20.7 | 335 | 17 15 | 22 178 | 49 BN
MHB1812[] | 12 |Mi8x1| 352 | 11.7 | 27.2 | 21 27 | 234 |374| 20 17 24 1356 70

. [Jin Model code / Replaced with “W" for Light-gray color.




I"F Fitting Series

. Main Block

M Outlet port I

(CZC14) Taper Banjo " E
wile ‘ A3 Rc
RoHS compliant] <L == )
B A
) e e B == 1
Sl M
= &\
2-M P2 |\O-i
e il Unit © mm
Modelcode | Rc | M | A1 | A2 | A3 | B | L1 | L2 |oP1 | oP2| E | Hi | Hg | Weight| CAD
(mm?)| (g) |flename
MHTO08MS5 []{M5%08
6 12.5 23.4 12 1 7.3
MHTO8M6[ ] M6X1 MgX1| 6.5 | 7.5 2571 82 [19.2 15.4 14 22
MHTO0801 [] | Rel/8 8 14.5 255 14 | 78 | 23
MHT12M6 ] |M6 X 1 6 125 26 12 | 97 | 28
mM2x1) 7 7.5 272 | 87 | 20.2 19.6 17
MHT1201[] | Re1/8 8 14.5 275 14 | 12.4 | 29 |TFMB-006
MHT1401 ] | Rel/8 8 10.2 14.5 29.5 14 116.1| 44
Mi4x1 8 8.5 31.2 23.2 24.4 22
MHT1402[] | Rci/4 " 1.7 21 34 19 1214 59
MHT1802[] | Rel/4 wiexil 8 85 | 11 [362]11.7]|272| 21 30 | 37 | 24 19 |369| 75
MHT1803[] | Rc3/8 8 12 |41.1 1146|331 | 256 | 28 | 365 | 27 | 22 | 595 | 91
% . []in Model code / Replaced with “W" for Light-gray color.
GEIE’ Module Socket
RoHS i 925
ROHS compliant; o2 Weight CAD
Model code :
— (9) file name
ol Qmc20[] \ 84 | TFLC-004
M18x1 . 8 Q| % . []in Model code / Replaced with “W" for Light-gray color.
T
L
O-rin 8 \ Hex.27
18.5
41

% . Select the plug for the Coupling Module from Light Coupling 20 series. See page 342.




PISCO.

http://WWW.pisco.com

B Expanding outlet port I

‘MIE’ Straight Banjo H1 E

NL ]
ROHS compliant <
c

Model code
MHS1208[] M8 X 1 7 8.7 12.5 26 12 | 84 | 26
X 7 75 27.2 20.2 19.6
MHS1212[] izt M12X1 7.5 10.2 18 29.5 17 17 1129 35
MHS1412[] M2 X1 7.5 10.2 18 815 17 1208 49
Mi4 X 8 8.5 31.2 23.2 24.4 22 -

MHS1414[] 1M14><1 85 11.7 21 34 19 1206 55 B
MHS1814[] MiB X M14X1 s 8.5 85 352 | 117|272 21 30 | 37 24 | 19 [401 | M
MHS1818[] M8 X 1 8 T 14111146331 25 | 28 |365| 27 | 22 |59.9| 86

3% .[]in Model code / Replaced with “W" for Light-gray color.

Plug

@Plug

ROHS compliant

Unit : mm
Model code M Al A2 B H Weight (ElD
(9) file name
MPGO08 M8 X 1 6 5 14 12 9
MPG12 M12 X 1 6 B 9 14 7.9 TEMB-008
MPG14 M14 X 1 6 5 10 17 14
MPG18 M18 X 1 7 6 12 19 25
M
@ car : cag)
ROHS compllan
N2
M6x1 Unit © mm
Model code M A B H ULl : ol
(9) file name
MCP08 M8 X 1 6.5 20 12 17
MCP12 M12 X 1 7 22 14 22
MCP14 M14 X 1 8 23 17 34 TFMB-008
MCP18 M18 X 1 8 25 22 64




I"‘1=1 Fitting Series

. Main Block

B Adapter

1’ Bush B

RoHS compliant

Model code M1 M2 A B H W(egig);ht
MBB1208 M12 X 1 M8 X 1 12 14 7.4
MBB1412 M14 X 1 M12 X 1 75 20 17 21
MBB1814 M18 X 1 M14 X 1 12 12 19 1"

Unit : mm

CAD
file name

TFMB-009

‘M) Male Screw Adaptor

“OHS compliant

O

Unit : mm

Model code M B H Weight - CAD
(9) file name

A
MBN0808 M8 X 1 7 18 10 5.6
MBN1212 M12 X1 8 20 14 13
MBN1414 M14 X 1 8 20 17 16
MBN1818 M18 X 1 8 20 19 19

TFMB-009




PISCO

http://WWW.pisco.com

M Bracket I

G[EEE]’ Bracket offf)
- 7
BAIG N m »u<— -
RoHS compliant - % F E by
( 5,
Y o ot o
N~
- o1a | ob s
h ! J2 | [~
B2 Unit © mm
Model code |  B1 B2 J1 E J2 % R LRI alacs s Al
(9) Model | file name
MZB061B 65 325 46 12 73
2. .
MZB062B = 80 625 40 63 13 84 MG, MCP TEMB-011
MzB161B 65 325 46 12 64
55 425 5
MZB162B 80 40 63 13 73 WPG, MCP

G[EEE]' Bracket 32
2-06.5
ROHS compliant %} a @

re)
™ I N
e |
'K NT 20
od
¥
[Te]
’777774‘ Unit © mm
Model code od et Attachable Model : @l
(9) file name
MZB06 7 28 MPG. MCP
MZB12 13 26 MKR0804
MZB14 15 26 MKR0806. MKR1206
B-
MZB16 17 25 MKR1208. MKR1408 TFMB-0T0
MZB20 21 23 MKR1210. MKR1410. MKR1810
MzZB22 23 22 MKR1412. MKR1812




I"1=1 Fitting Series

. Main Block
B Assembly tool I

152!1]!]33’ Spanners for main block

[ =

Unit - mm
Hex. Hex. CAD
Spanner B HA1 H2 U file name
@ 125 10 12 3.4
) 130 14 17 34 _
® 140 19 22 4
O] 150 24 27 4




